

Fuzzy Ideals in BE-Algebras

¹SEOK ZUN SONG, ²YOUNG BAE JUN AND ³KYOUNG JA LEE

¹Department of Mathematics, Jeju National University, Jeju 690-756, Korea

²Department of Mathematics Education (and RINS), Gyeongsang National University,
Chinju 660-701, Korea

³Department of Mathematics Education, Hannam University, Daejeon 306-791, Korea
¹szsong@jejunu.ac.kr, ²skywine@gmail.com, ³kjlee@hnu.kr

Abstract. The fuzzification of ideals in BE-algebras is considered, and several properties are investigated. Characterizations of a fuzzy ideal are provided.

2000 Mathematics Subject Classification: 06F35, 03G25, 08A72

Key words and phrases: (transitive, self distributive) BE-algebra, (fuzzy) ideal, upper set.

1. Introduction

In 1966, Imai and Iséki [2, 3] introduced two classes of abstract algebras: BCK-algebras and BCI-algebras. It is known that the class of BCK-algebras is a proper subclass of the class of BCI-algebras. As a generalization of a BCK-algebra, Kim and Kim [4] introduced the notion of a BE-algebra, and investigated several properties. In [1], Ahn and So introduced the notion of ideals in BE-algebras. They gave several descriptions of ideals in BE-algebras. In this paper, we consider the fuzzification of ideals in BE-algebras. We introduce the notion of fuzzy ideals in BE-algebras, and investigate related properties. We give characterizations of a fuzzy ideal in BE-algebras.

2. Preliminaries

Let $K(\tau)$ be the class of all algebras of type $\tau = (2, 0)$. By a *BE-algebra* we mean a system $(X; *, 1) \in K(\tau)$ in which the following axioms hold (see [4]):

$$(2.1) \quad (\forall x \in X) (x * x = 1);$$

$$(2.2) \quad (\forall x \in X) (x * 1 = 1);$$

$$(2.3) \quad (\forall x \in X) (1 * x = x);$$

$$(2.4) \quad (\forall x, y, z \in X) (x * (y * z) = y * (x * z)). \quad (\text{exchange})$$

Communicated by Lee See Keong.

Received: August 5, 2008; Revised: January 27, 2009.

A relation “ \leq ” on a BE-algebra X is defined by

$$(2.5) \quad (\forall x, y \in X) (x \leq y \iff x * y = 1).$$

A BE-algebra $(X; *, 1)$ is said to be *transitive* (see [1]) if it satisfies:

$$(2.6) \quad (\forall x, y, z \in X) (y * z \leq (x * y) * (x * z)).$$

A BE-algebra $(X; *, 1)$ is said to be *self distributive* (see [4]) if it satisfies:

$$(2.7) \quad (\forall x, y, z \in X) (x * (y * z) = (x * y) * (x * z)).$$

Note that every self distributive BE-algebra is transitive, but the converse is not true in general (see [1]).

A nonempty subset I of a BE-algebra X is called an *ideal* of X (see [1]) if it satisfies:

$$(2.8) \quad (\forall x \in X) (\forall a \in I) (x * a \in I);$$

$$(2.9) \quad (\forall x \in X) (\forall a, b \in I) ((a * (b * x)) * x \in I).$$

3. Fuzzy ideals

In what follows, let X denote a BE-algebra unless otherwise specified.

Definition 3.1. A fuzzy set μ in X is called a *fuzzy ideal* of X if it satisfies:

$$(3.1) \quad (\forall x, y \in X) (\mu(x * y) \geq \mu(y));$$

$$(3.2) \quad (\forall x, y, z \in X) (\mu((x * (y * z)) * z) \geq \min\{\mu(x), \mu(y)\}).$$

Theorem 3.1. Let μ be a fuzzy set in X . Then μ is a fuzzy ideal of X if and only if it satisfies:

$$(3.3) \quad (\forall \alpha \in [0, 1])(U(\mu; \alpha) \neq \emptyset \implies U(\mu; \alpha) \text{ is an ideal of } X)$$

where $U(\mu; \alpha) := \{x \in X \mid \mu(x) \geq \alpha\}$.

Proof. Assume that μ is a fuzzy ideal of X . Let $\alpha \in [0, 1]$ be such that $U(\mu; \alpha) \neq \emptyset$. Let $x, y \in X$ be such that $y \in U(\mu; \alpha)$. Then $\mu(y) \geq \alpha$, and so $\mu(x * y) \geq \mu(y) \geq \alpha$ by (3.1). Thus $x * y \in U(\mu; \alpha)$. Let $x \in X$ and $a, b \in U(\mu; \alpha)$. Then $\mu(a) \geq \alpha$ and $\mu(b) \geq \alpha$. It follows from (3.2) that

$$\mu((a * (b * x)) * x) \geq \min\{\mu(a), \mu(b)\} \geq \alpha$$

so that $(a * (b * x)) * x \in U(\mu; \alpha)$. Hence $U(\mu; \alpha)$ is an ideal of X .

Conversely, suppose that μ satisfies (3.3). If $\mu(a * b) < \mu(b)$ for some $a, b \in X$, then $\mu(a * b) < \alpha_0 < \mu(b)$ by taking $\alpha_0 := (\mu(a * b) + \mu(b))/2$. Hence $a * b \notin U(\mu; \alpha_0)$ and $b \in U(\mu; \alpha_0)$, which is a contradiction. Let $a, b, c \in X$ be such that

$$\mu((a * (b * c)) * c) < \min\{\mu(a), \mu(b)\}.$$

Taking $\beta_0 := (\mu((a * (b * c)) * c) + \min\{\mu(a), \mu(b)\})/2$, we have $\beta_0 \in [0, 1]$ and

$$\mu((a * (b * c)) * c) < \beta_0 < \min\{\mu(a), \mu(b)\}.$$

It follows that $a, b \in U(\mu; \beta_0)$ and $(a * (b * c)) * c \notin U(\mu; \beta_0)$. This is a contradiction, and therefore μ is a fuzzy ideal of X . \blacksquare

Example 3.1. Let $X = \{1, a, b, c, d, 0\}$ be a set with the following Cayley table:

*	1	a	b	c	d	0
1	1	a	b	c	d	0
a	1	1	a	c	c	d
b	1	1	1	c	c	c
c	1	a	b	1	a	b
d	1	1	a	1	1	a
0	1	1	1	1	1	1

Then $(X; *, 1)$ is a BE-algebra (see [4]).

(1) Let μ be a fuzzy set in X defined by

$$\mu(x) := \begin{cases} 0.7 & \text{if } x \in \{1, a, b\}, \\ 0.2 & \text{if } x \in \{c, d, 0\}. \end{cases}$$

Then

$$U(\mu; \alpha) = \begin{cases} \emptyset & \text{if } \alpha \in (0.7, 1], \\ \{1, a, b\} & \text{if } \alpha \in (0.2, 0.7], \\ X & \text{if } \alpha \in [0, 0.2]. \end{cases}$$

Note that $\{1, a, b\}$ and X are ideals of X , and so μ is a fuzzy ideal of X .

(2) Let ν be a fuzzy set in X defined by

$$\nu(x) := \begin{cases} 0.6 & \text{if } x \in \{1, a\}, \\ 0.4 & \text{if } x \in \{b, c, d, 0\}. \end{cases}$$

Then

$$U(\nu; \beta) = \begin{cases} \emptyset & \text{if } \beta \in (0.6, 1], \\ \{1, a\} & \text{if } \beta \in (0.4, 0.6], \\ X & \text{if } \beta \in [0, 0.4]. \end{cases}$$

Note that $\{1, a\}$ is not an ideal of X since

$$(a * (a * b)) * b = (a * a) * b = 1 * b = b \notin \{1, a\}.$$

Hence ν is not a fuzzy ideal of X .

Lemma 3.1. Every fuzzy ideal μ of X satisfies the following inequality:

$$(3.4) \quad (\forall x \in X) \quad (\mu(1) \geq \mu(x)).$$

Proof. Using (2.1) and (3.1), we have

$$\mu(1) = \mu(x * x) \geq \mu(x)$$

for all $x \in X$. █

Proposition 3.1. If μ is a fuzzy ideal of X , then

$$(3.5) \quad (\forall x, y \in X) \quad (\mu((x * y) * y) \geq \mu(x)).$$

Proof. Taking $y = 1$ and $z = y$ in (3.2) and using (2.3) and Lemma 3.1, we get

$$\mu((x * y) * y) = \mu((x * (1 * y)) * y) \geq \min\{\mu(x), \mu(1)\} = \mu(x)$$

for all $x, y \in X$. █

Corollary 3.1. *Every fuzzy ideal μ of X is order preserving, that is, μ satisfies:*

$$(3.6) \quad (\forall x, y \in X) (x \leq y \implies \mu(x) \leq \mu(y)).$$

Proof. Let $x, y \in X$ be such that $x \leq y$. Then $x * y = 1$, and so

$$\mu(y) = \mu(1 * y) = \mu((x * y) * y) \geq \mu(x)$$

by (2.3) and (3.5). ■

Proposition 3.2. *Let μ be a fuzzy set in X which satisfies (3.4) and*

$$(3.7) \quad (\forall x, y, z \in X) (\mu(x * z) \geq \min\{\mu(x * (y * z)), \mu(y)\}).$$

Then μ is order preserving.

Proof. Let $x, y \in X$ be such that $x \leq y$. Then $x * y = 1$, and so

$$\mu(y) = \mu(1 * y) \geq \min\{\mu(1 * (x * y)), \mu(x)\} = \min\{\mu(1 * 1), \mu(x)\} = \mu(x)$$

by (2.1), (2.3), (3.7) and (3.4). ■

We give a characterization of fuzzy ideals.

Theorem 3.2. *Let X be a transitive BE-algebra. A fuzzy set μ in X is a fuzzy ideal of X if and only if it satisfies conditions (3.4) and (3.7).*

Proof. Assume that μ is a fuzzy ideal of X . By Lemma 3.1, μ satisfies (3.4). Since X is transitive, we have

$$(3.8) \quad (y * z) * z \leq (x * (y * z)) * (x * z),$$

i.e., $((y * z) * z) * ((x * (y * z)) * (x * z)) = 1$ for all $x, y, z \in X$. It follows from (2.3), (3.2) and Proposition 3.1 that

$$\begin{aligned} \mu(x * z) &= \mu(1 * (x * z)) \\ &= \mu(((y * z) * z) * ((x * (y * z)) * (x * z))) * (x * z)) \\ &\geq \min\{\mu((y * z) * z), \mu(x * (y * z))\} \\ &\geq \min\{\mu(x * (y * z)), \mu(y)\}. \end{aligned}$$

Hence μ satisfies (3.7). Conversely suppose that μ satisfies two conditions (3.4) and (3.7). Using (3.7), (2.1), (2.2) and (3.4), we have

$$(3.9) \quad \begin{aligned} \mu(x * y) &\geq \min\{\mu(x * (y * y)), \mu(y)\} \\ &= \min\{\mu(x * 1), \mu(y)\} \\ &= \min\{\mu(1), \mu(y)\} = \mu(y) \end{aligned}$$

and

$$(3.10) \quad \begin{aligned} \mu((x * y) * y) &\geq \min\{\mu((x * y) * (x * y)), \mu(x)\} \\ &= \min\{\mu(1), \mu(x)\} = \mu(x) \end{aligned}$$

for all $x, y \in X$. Since μ is order preserving by Proposition 3.2, it follows from (3.8) that

$$\mu((y * z) * z) \leq \mu((x * (y * z)) * (x * z))$$

so from (3.7) and (3.10) that

$$\mu((x * (y * z)) * z) \geq \min\{\mu(((x * (y * z)) * (x * z)), \mu(x)\}$$

$$\begin{aligned} &\geq \min\{\mu((y * z) * z), \mu(x)\} \\ &\geq \min\{\mu(x), \mu(y)\} \end{aligned}$$

for all $x, y, z \in X$. Hence μ is a fuzzy ideal of X . ■

Corollary 3.2. *Let X be a self distributive BE-algebra. A fuzzy set μ in X is a fuzzy ideal of X if and only if it satisfies conditions (3.4) and (3.7).*

Proof. Straightforward. ■

For every $a, b \in X$, let μ_a^b be a fuzzy set in X defined by

$$\mu_a^b(x) := \begin{cases} \alpha & \text{if } a * (b * x) = 1, \\ \beta & \text{otherwise} \end{cases}$$

for all $x \in X$ and $\alpha, \beta \in [0, 1]$ with $\alpha > \beta$.

The following example shows that there exist $a, b \in X$ such that μ_a^b is not a fuzzy ideal of X .

Example 3.2. Let $X = \{1, a, b, c, d, 0\}$ be a BE-algebra as in Example 3.1. Then μ_1^a is not a fuzzy ideal of X since

$$\begin{aligned} \mu_1^a((a * (a * b)) * b) &= \mu_1^a((a * a) * b) = \mu_1^a(1 * b) \\ &= \mu_1^a(b) = \beta < \alpha = \mu_1^a(a) \\ &= \min\{\mu_1^a(a), \mu_1^a(b)\}. \end{aligned}$$

Theorem 3.3. *If X is self distributive, then the fuzzy set μ_a^b in X is a fuzzy ideal of X for all $a, b \in X$.*

Proof. Let $a, b \in X$. For every $x, y \in X$, if $a * (b * y) \neq 1$, then $\mu_a^b(y) = \beta \leq \mu_a^b(x * y)$. Assume that $a * (b * y) = 1$. Then

$$\begin{aligned} a * (b * (x * y)) &= a * ((b * x) * (b * y)) \\ &= (a * (b * x)) * (a * (b * y)) \\ &= (a * (b * x)) * 1 = 1, \end{aligned}$$

and so $\mu_a^b(x * y) = \alpha = \mu_a^b(y)$. Hence $\mu_a^b(x * y) \geq \mu_a^b(y)$ for all $x, y \in X$. Now, for every $x, y, z \in X$, if $a * (b * x) \neq 1$ or $a * (b * y) \neq 1$, then $\mu_a^b(x) = \beta$ or $\mu_a^b(y) = \beta$. Thus

$$\mu_a^b((x * (y * z)) * z) \geq \beta = \min\{\mu_a^b(x), \mu_a^b(y)\}.$$

Suppose that $a * (b * x) = 1$ and $a * (b * y) = 1$. Then

$$\begin{aligned} a * (b * ((x * (y * z)) * z)) &= a * ((b * (x * (y * z))) * (b * z)) \\ &= (a * (b * (x * (y * z)))) * (a * (b * z)) \\ &= ((a * (b * x)) * (a * (b * (y * z)))) * (a * (b * z)) \\ &= (1 * (a * (b * (y * z)))) * (a * (b * z)) \\ &= (a * (b * (y * z))) * (a * (b * z)) \\ &= ((a * (b * y)) * (a * (b * z))) * (a * (b * z)) \\ &= (1 * (a * (b * z))) * (a * (b * z)) \\ &= (a * (b * z)) * (a * (b * z)) = 1, \end{aligned}$$

which implies that

$$\mu_a^b((x * (y * z)) * z) = \alpha = \min\{\mu_a^b(x), \mu_a^b(y)\}.$$

Therefore $\mu_a^b((x * (y * z)) * z) \geq \min\{\mu_a^b(x), \mu_a^b(y)\}$ for all $x, y, z \in X$. Consequently, μ_a^b is a fuzzy ideal of X for all $a, b \in X$. ■

For any $a, b \in X$, the set

$$A(a, b) := \{x \in X \mid a * (b * x) = 1\}$$

is called the *upper set* of a and b (see [4]). Clearly, $1, a, b \in A(a, b)$ for all $a, b \in X$ (see [4]). Note that $A(a, b)$ is not an ideal of X in general (see [1]).

Lemma 3.2. *A nonempty subset I of X is an ideal of X if and only if it satisfies*

$$(3.11) \quad 1 \in I,$$

$$(3.12) \quad (\forall x, z \in X) (\forall y \in I) (x * (y * z) \in I \implies x * z \in I).$$

Proof. Let I be an ideal of X . Using (2.1) and (2.8), we have $1 = a * a \in I$ for all $a \in I$. We prove the following assertion:

$$(3.13) \quad (\forall x \in I) (\forall y \in X) (x * y \in I \implies y \in I).$$

Let $x \in I$ and $y \in X$ be such that $x * y \in I$. Then

$$y = 1 * y = ((x * y) * (x * y)) * y \in I$$

by (2.9). Now, let $x, z \in X$ and $y \in I$ be such that $x * (y * z) \in I$. Then $y * (x * z) \in I$ by (2.4). Since $y \in I$, it follows from (3.13) that $x * z \in I$. Hence (3.12) is valid.

Conversely, assume that (3.11) and (3.12) are valid. Let $x \in X$ and $a \in I$. Then $x * (a * a) = x * 1 = 1 \in I$, and so $x * a \in I$ by (3.12). Since $(a * x) * (a * x) = 1 \in I$, we have $(a * x) * x \in I$ by (3.12). It follows that $(a * (b * x)) * (b * x) \in I$ for all $a, b \in I$ and $x \in X$. Using (3.12), we get $(a * (b * x)) * x \in I$. Therefore I is an ideal of X . ■

Theorem 3.4. *Let μ be a fuzzy set in X . Then μ is a fuzzy ideal of X if and only if μ satisfies the following assertion:*

$$(3.14) \quad (\forall a, b \in X) (\forall \alpha \in [0, 1]) (a, b \in U(\mu; \alpha) \implies A(a, b) \subseteq U(\mu; \alpha)).$$

Proof. Assume that μ is a fuzzy ideal of X and let $a, b \in U(\mu; \alpha)$. Then $\mu(a) \geq \alpha$ and $\mu(b) \geq \alpha$. Let $x \in A(a, b)$. Then $a * (b * x) = 1$. Hence

$$\mu(x) = \mu(1 * x) = \mu((a * (b * x)) * x) \geq \min\{\mu(a), \mu(b)\} \geq \alpha,$$

and so $x \in U(\mu; \alpha)$. Thus $A(a, b) \subseteq U(\mu; \alpha)$.

Conversely, suppose that μ satisfies (3.14). Note that $1 \in A(a, b) \subseteq U(\mu; \alpha)$ for all $a, b \in X$. Let $x, y, z \in X$ be such that $x * (y * z) \in U(\mu; \alpha)$ and $y \in U(\mu; \alpha)$. Since

$$(x * (y * z)) * (y * (x * z)) = (x * (y * z)) * (x * (y * z)) = 1$$

by (2.4) and (2.1), we have $x * z \in A(x * (y * z), y) \subseteq U(\mu; \alpha)$. It follows from Lemma 3.2 that $U(\mu; \alpha)$ is an ideal of X . Hence μ is a fuzzy ideal of X by Theorem 3.1. ■

Corollary 3.3. *If μ is a fuzzy ideal of X , then*

$$(3.15) \quad (\forall \alpha \in [0, 1]) \left(U(\mu; \alpha) \neq \emptyset \implies U(\mu; \alpha) = \bigcup_{a, b \in U(\mu; \alpha)} A(a, b) \right).$$

Proof. Let $\alpha \in [0, 1]$ be such that $U(\mu; \alpha) \neq \emptyset$. Since $1 \in U(\mu; \alpha)$, we have

$$U(\mu; \alpha) \subseteq \bigcup_{a \in U(\mu; \alpha)} A(a, 1) \subseteq \bigcup_{a, b \in U(\mu; \alpha)} A(a, b).$$

Now, let $x \in \bigcup_{a, b \in U(\mu; \alpha)} A(a, b)$. Then there exist $u, v \in U(\mu; \alpha)$ such that $x \in A(u, v) \subseteq U(\mu; \alpha)$ by Theorem 3.4. Thus $\bigcup_{a, b \in U(\mu; \alpha)} A(a, b) \subseteq U(\mu; \alpha)$. This completes the proof. ■

Acknowledgement. This work was supported by the research grant from the Chuongbong Academic Research Fund of the Jeju National University in 2009. The authors are very grateful to the referees for their valuable comments and suggestions for improving this paper. Seok-Zun Song is the corresponding author.

References

- [1] S. S. Ahn and K. S. So, On ideals and upper sets in *BE*-algebras, *Sci. Math. Jpn.* **68** (2008), no. 2, 279–285.
- [2] Y. Imai and K. Iséki, On axiom systems of propositional calculi. XIV, *Proc. Japan Acad.* **42** (1966), 19–22.
- [3] K. Iséki, An algebra related with a propositional calculus, *Proc. Japan Acad.* **42** (1966), 26–29.
- [4] H. S. Kim and Y. H. Kim, On *BE*-algebras, *Sci. Math. Jpn.* **66** (2007), no. 1, 113–116.